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Instructions : (1) .Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black

ink to write and underline and pencil to draw
diagrams.

U@S - I/ PART - I

G@OllY @ ()  menss cilanréaEnaEn elen Welssayib, 20x1=20

(i) Qer@ssiuc [Herar wrpm eflen_safld uS]asvab FoUmLw e amws
* Gg,r'r(r_'r;@g,@§g;1é§ GO BLa efenulenaruyib Cegg) arpsey.

Note: (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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e ;E;Qi*?;““@@ OGT 2 Aenowmen, Bmeuant whmib Cuemari cremD cues D
(=) FL(ODey stigw (<) &l O Hmeuantd
(@) saflurer cuelsis (7) <irs Hneuand
In which form, the owner, establisher and manager is only one ?
(a) Co-operative Society (b) Joint Enterprise
(c) So}e Proprietor (d) Government Company
2. Gprenwol u@@gnuﬁam @@ Hmwgear
(=) sLemaflser (<) asl_en“r’;'r;(ﬁg,m'r‘
(@) vexflureriadr () o Mepwwmerider
Equity shareholders are the __ of a c;ompany.
| (a) Debtors : (b) '(-Dreditors
(c) Employees - (d) Owners
3. &w 255 @@é;a;@é;@ gLan Hefldgs _ Gaumul L (penm&er o draran.
(1) 3 () 1 (&) 4 (FF) 2
There are distinct modes of credit to Self Help Groups.
(@) 3 (b) 1 (c) 4 (d) 2

4. 2Hs SfeTe| JAUNUSMSSE CGTRTLE).

(1) cuanflaid () eNwrumyid

(@) 2-pusdls Asmble () Qoo Simarggid
Normally high level risk involved in

(a) Commerce . ' (b) Trade

(c) Iﬁdustry (d). All of the above




Qsdars @UUBSD @GHItiLg) :

(=) sl peLpapsmar \mieug e @Dugbg,Lb.

() sLLEHES Wrewmran QUUBSSHeT Gwid.

(@) Qumg Qardransss erdlymar eLamun(.

() slLggmd poLwapliu@ss wwurs o Lawn(.

Void agreement signifies

(a) Agreement violating legal procedure
(b) Agreement illegal in nature |
(c) Agreement against public policy

(d) Agreement not enforceable by law

Hemaupeuaraupmiar g efwmuny pLeuig devsufen Hprnducmy Gaoema ?
(1) Qurer whmid Geeneu LfwrHOL () DL

() QurBladr wHmb Comamu o marsgsd

(@) swuemd / g6l

(%) @it ppe

Which of the following does not characterise business activity ? |

(a) Sale or exchange of goods and services

(b) Production of goods and services

(c) Salary or wages

(d) Presence of Risk

@ndu puLbHss LD @uppliuc L @@ |
(1) 1873 (<) 1871 . (|) 1874 (F) 1872

The Indian Contract Act was established in the year :
(a) 1873 (b) 1871 (c) 1874 (d) 1872

rraGLe Cerensud_yuiener Camhmedsseum

(=) Lmeomss) (<) prum gbleuen
(@) eowGui () H.C. smréQeum
Rochdale Society was started by .‘

(a) Talmaki (b) Robert Owen
(c) Lambert (d) H.C. Calvert
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L 9.

10.

11.

o GTBIL® ey dden Gpréamib

(<) Cadlw aumorangans D_WLIiT g6

(<) UTDENSHS SIHNG 2_WITGEI6ug)

(@) Szl Qurmlsmearynd HeLsss Qaliaig

(™) @dSuradiug Qurm smeanub Comasmeanid SEEE cflaomiids QPIERE
The aim of home trade is

(a) - To raise the national income

(b) To raise the standard of living

(c) To obtain all types of goods

(d) To provide the essential goods and services economically -

Biminé s Fdlen i Leuemant-3 (Table-A) erenig) :
(<=1) Bmw Qewedgpern el safer wrdfl |

(<=1) Blspedls @gﬂuczur_@m orgif

(@) Hlmw é{emqu wpeomGuiigen wrg

() @muyblenes @@ugm wrfll Uigeud

Table A of the Companies Act is . L

(a) Model of AOA |

(b) Model minutes book

(c) Model of MOA .
(d) Model form of balance sheet -

eQwrury Qe floawismer ___ amsserisl Gflssom.

(1) BB (<=1) epenp) (@) preng  (w) @rewn(
Merchant Middlemen can be classified into ____ categories.

(a) Five (b) Three ‘(c) Four (d) Two
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12. prpserddleCu srdgsd wppih Coemauser i (un ufwrls Qerereriul L

13.

14.

ey,

g
(<) oy gpmwd eQurumyb (<)) Laanr () eSlwrumLd

(Q) eapri@ edwrunyd () uwerenml () euenflsLd

Exchange of goods and services alone among the countries is called as :

(@) Entrepot Trade (b) International Trade

(c) Internal Trade . (d) International Business
sTulSC et sgliverds CarlumQ <2,GLD.

(1) uar efaw (<) 088 BOGMS

(8) Siamenwsd smyewid : () sl (hpey

The basic principle of Insurance is
(a) Subrogation (b) Utmost good faith

(c) Proximate Causa (d) Co-operation

Grdwrelld Geuamreaimanio eU(HLOTEILD GTETLIS) :
(=) eu@prenons &maLiu{Heudldeane

(=) pppaugin eufl efLGDE 2Ll L g

- (@) weanpws el

() pupeugid eufl elwadlpaE ol ul g

Agncultural income in India is :
(a) Not considered for Income
(b) Fully Taxable

(c) Indirect Tax

(d) Fully Exempted
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15.

16.

17.

Rrpsr @uan QauaiGugy @Lusesgs Asam GODHS ol 6o W @

QurmLsemar edwrumyin QFIGeumeny gz

(=) Qg@ésassmg edwrurfser (<)) LLBIEG SOL&ET

(@) sporEn ewrurfsdr | ' (FF) (PEGUTEET

are mobile traders who deal in low priced artlcles with no fixed place
of business.

(a) Street stall merchant (b) Multiple shops

(c) Itinerant traders (d)  Agents

Lﬂshm@wemmﬁ)gjéﬂ Tyl Wanangy cuanlls wepp Side ?

(1) @&n@mnna@a@ @enCuwrer euanflan (C2C)

(=) Aamfler HmeuansdneLd amq.a;ma;umm@a;@m @sml_CSU_lu_lrrsm auantlsd (B2C)
(@) Qurss aﬁ]qurumﬂas@Lo foaan edururfégn e Cuwrar cuamilsd (W2R)
(FF) Qgmfled ﬁ@méméws@é;@ @enCuwrar cuanflsd (B2B) |
Which one of the following is not an E-Commerée Domains/Models ?

(a) Consumer to Consumer (C2C) | |

(b) Business to Customers (B2C)

(c) Wholesaler to Retailer (W2R)

(d) Business to Business [BQB)

FTOE SL MWL ’ epald BESTLD.
(1) edlpueenimeni (@) Curgaurss
(@) s (F) USTL&ETEN®

Hindrance of Time is removed by
(a) Salesman . (b) Transport

(c) Insurance , " (d) Warehouse



18. Qurr@;'r;g,rrg, paneng Csib0s{HasaLb.
(1) Qurgll ST a6 smiLsHET
(=) Gevermud MUY UG &G STULGEST
(Q) &l Bmey LSHTLSE STLILISGBIGET
(F) seflurt LaT_sé srliushsdT
Find the odd one out :
(a) General warehouses
(b) Bonded warehouses

(c) Co-operative warehouses
(d) Private warehouses

19. GST -War elfleurssid :

(1) Goods and Services Tax (<,) Goods and Supply Tax
(8) General Sales Tax () Government Sales Tax
GST stands for :

(a) Goods and Services Tax (b) Goods and Supply Tax
(c) General Sales Tax (d) Government Sales Tax

20. &l Lramanto e amLnésluBeug :
(21) sirélen auflamied (<) @UUBSSST
(@) plber sygliuenule () &lireflsafien . Cw o mey

A partnership is formed by .
(a) the direction of government (b) agreement
(c) friendship (d) relationship among persons

u@s) - II / PART - 11
GO0y : amabugd g Narss@réE oL walssan. Suphld elemr orar
30 -&@ sLLmnuwons el walésaylb. Tx2=14
Note :  Answer any seven questions. Question No. 30 is Compulsory.

21. UL LOTDHM APEND ETEIMTED GTErar ?
What is meant by Barter System ?

22. siLnefl ereueul wmi ?
Who is called a partner ?

23. gloparfl sewlysEsE Qran® e smammhismas GRS
Give two examples of Departmental undertaking.
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24. ATM upfl bellir wifleugy wing 7
What do you mean by ATM ?

25. uamLes arliushseier uellsmen L g weDs.
List the functions of Warehouses.

26. ojepss Galluy HiLmsear gGsayb BraldEleoa eTpagis.

Write any four Post Office savings schemes.

27. wyEgHYLSE SwTumTD erempTe) ererea ?
What is meant by Entrepot Trade ?

28. elwrurygdlen Qummer sms.

Give the meaning of Trade.

29. wepws il eratuger Qurmer aranar ? gCsaub Gram® 2-FTTERTBIET H(HE.

What is the meaning of indirect tax ? Give two examples.

30. &Cres Qempslons gm Gsmnfd Qsru@dpri. SamELIL SHSLILD, gCarI(mHDd
SUEE 2 selurs e dtarari. §g craiaums eflwTLTy SepDLIL 6T ers, =N
Ssigamar updl GHluy wers.

Suresh started a business on his own. His father and brother helping in his
business. What kind of business organisation is this and give a note on it.

L8 - III / PART - III

GOl : aemaCuad gp HassEsE e walldsayb. Seundla eSerm eregr
40 -5 sU_Lmuwrs e walgseay. 7x3=21

Note : Answer any seven questions. Question No. 40 is Compulsory.

31. Gseneud QSMPADSET CTEMDID CTETEN ? SASST AUDSHDAT CT(PE)5.
What do you mean by tertiary Industries ? Mention its types.

32. Swept (® Bmwiisdr LHHl TIPS,

Write about foreign companies.




33.

34,

35.

36.
37.

38.

39,

40.

QU BPSBISET eTepma cTean 7

What is meant by Public Corporations ?

g ”—.55‘955_ GWasafler TCsab epenmy ApiAwaysemer efeuflEsayLb.
Explain any three features of Self Help Group.

Gwrgs aS]mrrurrrﬂa;é:ﬂs&r W (W] érmm(%u_@jm epadlenan edleuflésay.

Explain any threek characteristics of wholesalers.

L BIGS SHevl_saflen Go@puTRsmer aflaréEs.

Explain the demerits of multiple shops.

RUUBSSNS Bmiensu ammed urrg%]a;asuuu_ BUHEE Henl_sasdalqll Qbg cuamsWTan
5rra4&ssmm Gr@@a;

What are the five types of remedies for breach of contract of the injured parties ?

geuens aumoneand semaLiysamer sigar Aflais@rier GHL9Gs.

List out the five heads of income and mention its sections.

Ay GHILY 505 : Apiiys Gsmile.

Write a short note on Profession.

a;;rulﬁl__qm CSasru.urr@assmmu Ul sl (s, Seupmle q@g,@m @m@mmu LMo
eSleufl&&ayLd.

List out the principles of Insurance and explain any one of them.
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| L@&&) - IV/ PART - IV
G : Siwess efamss@ieh o welssab. TSR

Note :  Answer all the questions.

41. (=) Qzmple, éﬂmuqé Azmild, Cauemaamniiy @f Uil Gsws. (rCoad 5)
CATMME |
() gGsad mig selipul Wwad O cufsmar allarées.
(a) Compare business, profession and employment. (Any 5)

OR

(b) Explain any five personal investment avenues.

42. () saflumer cuamflagdlan SAmlndlwcoysener aﬁ]m;%@a;.
{60605
(=) eL-libg. Qedaéamig @UUbsSSa ;@mgﬂu.lmmu_mg; Fmear craneuGuenid
ghSlevan ellatéEs.
‘(a) Explain the characteristics of sole trading business.

OR

(b) Expiain any five essentials of a valid contract.

43. (=) geopaurf Hnauamtseier qCsaib o HlenpseT LHMID pPeTn GPmEeT
NeTEES. |
IRV
(<) Q@n@g,_aﬂununrﬂé;@m Aoeen elwrurfiEgbd e Cw o erer Coumur@ser
gCsgd phfloan ayss.
(a) Explain any three advantages and three disadvantages of departmental

undertaking.
OR

(b) Give any five differences between Wholesale Trader and Retail Trader.
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D) eremest ?
Wem 6f ) aafla oyt Aludrern  Qummersmbisar o (G560
O Tpgs,

S Qe
4. (S0 & ey e eran
(1) Qawe
Lhden

S|V6V G|
) Lerem_ [ LT, ' o ‘
. . -0 aallagfan pereniomen creneuQuignid gpbdlenen elams s,
@) (1) What is Articles of Association ?
=
) Write any five contents of Articles of Association.

OR

(b) Explain any five advantages of International business.

45. (=) awarlls wundlsard PrsLuu@D uaGam euamswurar GLetsmars LD

eSeuflésayb.

A NEVEY

(%) sCLnaimanio Boauasost ufa Qsiw QauppL@LD IBH L (e & e e
cSleufldsayib.

(a) Explain in detail the granting of different kinds of loans by the commercial
banks.

OR
(b) Explain the procedure for Registration of a Partnership firm.

() 2ampr () edwrunpgdler @wdysdr wreanas ? (gCsayw 5)
SV
(<) crapauCugyd 5 cumarar LURTL &S STLILGRIEMET efleufl&gayib.

(a) What are the features of Internal Trade ? (Any 5)
: OR
(b) Explain any five types of warehouses.

(1) Corg afleowyb, wopwys aflowynd Caunu@dsss. (gCaabd 5)
S|
(=) ueirenL_ g SUIPBTLIG e sLDseorGuimy QUTESHD LD ellend; g,

(a) Distinguish between Direct taxes and Indirect taxes. (Any 5)
OR

(b) Explain the coastal trade in ancient Tamil Nadu.
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